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PRACTICE QUESTIONS OF MCQ

Q.1: o i : .

(a) Eleven students A, B, C, D, E, F, G, H, I, J and K are sitting in first line
facing to the teacher. -

(b) D who is just to the left of F, is to the right of C at second place.

(c) Ais second to the right of E who is at one end.

(d) Jisthe nearest neighbour of A and B and is to the left of G at third place.

(e) His next to D to the left and is at the third place to the right of | who is
just in the middle?.

(@ A (b) B
(© H _ ON
Answer:
I is in the middle.

Teacher

[ ]

. ° . ° ° ° ° ° ° ° °
E K A J B 1 G C H D F

(d) 1

1
Q.2: Siva, Satish, Amar and Praveen are playing cards. Amar is to the right
of Satish who is to the right of Siva. Who is to the right of Amar?

(a) Satish it
g?l)ls:feaxeen (d) Shiva
(c) Praveen
Safish
i Sva
Praveen

b



L [Chapter = 11] Seating Arrangements ]I I 3.595—|

"Q.3: AR, P, X, S and Z are sitting in a row S and Z are in the Centre. A and .

P are at the ends. R is sitting to the left of A. Who is to the right of P ?

(@ A (b) X
(c) S (d) Z
Answer:
Rightof P is X.
[ ] o ° e [ ] [ ]
P X S z R A
(b) X

Q.4: A, B, C, D and E are sitting on a bench. A is sitting next to B, C is sitting
next to D, D is not sitting with E who is on the left end of the bench. C is on
the second position from the right. A is to the right of Band E. A and C are
sitting together. In which position A is sitting?

(a) Between B and D (b) Between B and C

(c) Between E and D (d) Between Cand E

Answer:

A is sitting in between B and C
® [ ] [ ] °® [ ]
E B A C D

(b) Between B and C
Q.5-8: Directions to solve :

(@ P,Q,R, S, T,U, Vand W are sitting round the circle and are facing the,

centre.
(b) P is second to the right of T who is the neighbour of Rand V.
(c) Sis not the neighbour of P
(d) Vis the neighbour of U
(e) Qis not between S and W. W is not between U and S.
Q.5: Which two of the following are not neighbour

(a) RV (b) UV
(c) RP (d aw
Answer:

(a) RV

WG en ey |
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Q.6: Who is immediate right to the V ?

(@) P (b) U
(¢) R ('T
Answer:

@ T

Q.7: Which of the following is correct ? ]
(a) P is to the immediate right of Q. (b) Ris betweenUandV
(c) Qs to the immediate left of W. (d) U is between W and S
Answer: 1 .

(c) Qs to the immediate left of W

Q.8: What is the position of S ?
(a) Between U and V

(c) To the immediate right of W
Answer: '

(c) To the immediate right of W

(b) Second to right of P
(d) Data inadequate

w P
s 5

7

] v :
Q.9-12: Five girls are sitting on a bench to be photographed. Seemaistothe
left of Rani and to the right of Bindu. Mary is to the right of Rani. Reetais |
between Rani and Mary? i
Q.9: Who is sitting immediate right to Reeta ?

(a) Bindu (b) Rani
(c) Mary (d) Seema
Answer:

(c) Mary
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0.10: Who is in the middle of the photograph 2

) Bindu (b) Rani
(c) Reeta (d) Seema
Answer:
(b) Rani
a.11: Who is second from the right 2
) Mary (b) Rani
(o Resta (d) Bindu
Answer: ety
(c) Reeta - : : .
0.12: Who is second from the left in photograph ? X
(2) Reeta (b) Mary e
() Bindu (d) -Seema
Answer: v
° ° L4 : ' | ®
Bindu Seema Rani Reeta "Mary
(d) Seema

0.13-16: Six Friends are sitting in a.circle and are facing the centre of the
dircle. Deepa is between Prakash and Pankaj. Priya is between Mukesh and -
Lalit, Prakash and Mukesh are opposite to each other.
Q.13: Who is sitting right to Prakash?

| (a) Mukesh - (b) Deepa

| () Pankaj (d) Lalit

Answer: :

(0) Lalit

Q.14: Who is just right to Pankaj?
(2) Deepa

) Prakash

Answer:

() Deepa

(b) Lalit
(d). Priya

Q. 15: Who are the neighbours of Mukesh? 4
(a) Prakash and Deepa (b) Deepa and Priya
(c) Priya and Pankaj (d) Lalit and Priya
Answer:

(c) Priya and Pankaj

Q.16: Who is sitting opposite to Priya?

(a) Prakash (b) Deepa
(c) Pankaj (d) Lalit
Answer:

(b) Deepa

Lalit Deepa :
Priya Pankaj /
! Mukesh

Q.17-20: Six Friends P, Q, R, S, T and U are sitting around the hexagonal
table each at one corner and are facing the centre of the hexagonal. P is
second to the left of U. Q is neighbour of R and S. T is second to the leftof

Q:17::Which one is sitting opposite to P? -

(@ R : () Q

T (d) S

Answer: i

(@) S ; \ .

Q.18: Who is the fourth person to the leftof Q 2 =+
@P . - (b).U s
() R . . (d) Datainadequate
Answer: ) 3

(@) P




[ 3.600 |m [solved Scanner CA Foundation Paper - 3B

2]

L [Chapter = 11] Seating Arrangements |l 3.599
Q.19: Who are neighbours of P ? .
(@ uaP (b) T&R
(c) U&R (d) Data inadequate
Answer:
(b) T&R
Q.20: Which one is sitting opposite to T ?
(@) R - (b Q
(c) Can't determine, (d) s
Answer:
(b) Q_
P
T R
U Q
S

Q.21-25: Directions to solve

(@) A, B, C, Dand E are five men sitting in a line facmg to South-while M N,
O, P and Q are five ladies sitting in a second line parallel to the first line
and are facing to North.

(b) B who is just next to the nght of D, is opposite to Q -

(c) Cand N are diagonally opposite to each other.

(d) Eis opposite to O who is just next right of M.

(e) P whois just to the left of Q, is opposite to D

(f) Mis at one end of the line.

Q.21: Who is smlng thlrd to the right of O ?

(@ Q (b) N

(o M (d) Data Inadequate
Answer:

(b) N

Q.22: If B shifts to the place of E, E shifts to the place of Q, and Q shifts to
the place of B, then who will be the second to the left of the person opposne
toO?

(@ Q ' (b) P

(c) E (d) D

Answer:

(@) Q 7

Q.23: Which of the followmg pair is diagonally opposite to each olher ?
(a) EQ (b) BO :
(c) AN (d) AM

Answer:

(d) AM

Q.24: If O and P, A and E, and B and Q interchange their positions, then
who will be the second person to the right of the person who is opposite to -
the person second of the right of P ?

(@) D i (b) A

(© E : (d) O

Answer:

(b) A . ’

Q.25: In the original arrangement-who is sitting just opposite to N 2 -

(@ B (b) A E

(c) C © (d) D

Answer:
o] E D B A
L ! 1 ! !
T T 1 T AN
M (o] P Q N

.(b) A



-

™

| g: [Chapter = 11] Seating Arrangements |m [ 3.601 |

-

[ 3.602 | m [solved Scanner CA Foundation Paper - 3B

0.26-29: Directions to solve

) AB,C, D, E, F and G are sitting in a row faci

(b; £ Is to the immediate right to E. Fig blor
o) Els4"tothe right to G.
() Clsthe neighbour of B and D.

(e) Person who is the third to the left at D is at one of ends.
0.26: Who are to the left of C ? ¢
(b) G,BandD

(a) Only B

o) GandB (d) D,E,FandA
Answer:

() Gand B

0.27: Which of the following statement not true ?

(a) Eisto the immediate left of D.  (b) A is at one of the ends.

() Gistothe immediate left of B (d) F is second to the right of D.
Answer: ’

(a) Eis to the immediate left of D.

0.28: Who are the neighbours of B ?

(a) Cand D (b) Cand G
(c) GandF (d) CandE
Answer: :

() Cand G

0.29: What is the position of A ?

(2) Between E and D (b) Extreme left

{c) Centre (d) Extreme right

Answer: ;
fus 1: T T 1 1 T
G B o] D E F A

| () Extreme right

Q.30-34: Direction to solve
(1) 8 persons E, F, G, H;1, J, K and L are seated around a square table two
on each side. !

|

.(2) There are 3 ladies who are not seated next to each other.

(3) Jis between L and F.

(4) Gis betweenlandF. X

() H, alady member is second to the left of J.

(6) F, amale member is seated opposite to E, a lady member.
(7) There is a lady member between Fandl.

Q.30: Who among following is to the immediate left of F?

(@) G (b) 1
() J (d) H
Answer:

(c) J

Q.31: What is true about J and K?
(a) Jis male, K is female.

(c) Both are female

Answer:

(d) Both are male.

(b) Jis female, K is male.
(d) Both are male.

Q.32: How many persons are seated between K and F ?

(a) 1 (b) 2

() 3 (d) 4

Answer: :

(c) 3

Q.33: Who among the following are three lady members ?
(a) EHJ J (b) EFG

(c) EHG (d) CHJ

Answer:

(c) EHG

Q.34: Who among the following is seated between E and H ?
(@ F , () 1

(c) K (d) Cant Say
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Answer:

KM E@
HE ¢ o1 (M)
L ¢ . G ()
M Fm
(c) K

Q.35-38: Directions to solve

In a class there are seven students (including boys and girls) A, B, C, D, E,
F and G. They sit on three benches I, Il and . Such that at least two
students on each bench and at least one girl on each bench. C who is a girl
student does not sit with A, E and D. F the boy student sits with only B. A sits
on the bench | with his friends. G sits on the'bench IIl. E is the brother of C.

Q.35: How many girls are there out of these 7 students ?

GV (b) 8ora .
(c) 4 ; (d) Data inadequate
Answer:

(b) 3or4
Q.36: Which of the following is the group of girls ?
(a) BAC (b) BFC

- (c) BCD (d) CDF

Answer:

(c) BCD

Q.37: Who sits with C ?

(@) B (b) D
(© G it (d) E
Answer:

() G

|

Q.38: On which bench there are three students ?

(a) Bench-l (b) Bench-li
(c) Bench-llI (d) Bench-lorll
Answer:
vt A [E @) [ &y
Benchl O a
Bl [G] @
(a) Bench-I

Q.39-42: Six girls are sitting in a circle facing to the centre of the circle, They
are P, Q, R, S, Tand V. Tis not between Q and S, but some other one. p is
next to the lift of V. R is 4™ to the right of P.

Q.39: Which of the following statement is not true ? :

(a) SisJustnextto the right of R.  (b) T is just next to the right of V.

(c) Rissecondtotheleftof T. . (d) P-.is second to the right of R.
Answer:

(c) Ris second to the left of T.

Q.40: If P and R interchange their positions then which of the following paii"
will sit together ?

(a) RT (b) PV
(o) VT (d) Qv
Answer:

_(c) VT

Q.41: What is the position of T ?
(a) Just next to the right of Q.
(c) Between Qand R.

Answer: )

(d) To the immediate right of V.

(b) Second to the left of P.
(d) To the immediate right of V.:

Q.42: Which one is sitting just rightto vV ?
(@ P : y (b) T
() R ‘ (d) s/Q
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(,“ Answer:
| \Y) P

T Qs

0T

Q43-47: Eight friends H, J, K, L, M, N, O and P are sitting around a circular
table facing the centre but not necessarily in the same order. There are five
temales in the group of friends. No two male persons are immediate.
neighbours of each other. N sits third to the right of P, who sits second to the
. right of his wife. J sits second to the right of her husband H, who is not an
| immediate neighbour of P’s wife. K is not an immediate neighbour of P, M
. sits second to the right of her husband. O is not an immediate neighbour of
. J. L sits second to the right of N, who is not a male. A

| 0.43: Who among the following sits exactly between two males ?
@M ; (b) O
@ 3 (d) N

~ Answer:

0o

| Q.44: Who is wife of P ?
@K

L

. (e) None of these

. Answer:

(a) K

0.45: In which of the following pairs is the second person second to the right
of the first person ? : .

(a) M,0

(©) K,J

(&) None of these

) O
(d N

(b) N, P
(@ N,P

[ 3.606 | [Solved Scanner CA Foundation Paper - 3B

Answer:

(@ M, 0 ' .
Q.46: How many females are there exactly between J and N ?
(a) 1 (b) 2

(c) 3 (d) None

Answer:

(d) None :

Q.47:tho among the following is third to the right of J ?

(@ H (b) O'

(c) Wife of L (d) Wife of P

Answer:

(c) Wifeof L

Q.48-52: A, B, C, D, E, F and G are sitting in a straight line facing North.
There is only one person between F and C. E sits between A and D. There
are only two persons between E and G. F sits on the immediate left of A,
who sits in the middle of the row.

Q.48: How many persons are there between E & F ?

(@ 1 (b) -2
(c) 8 (d) 4
Answer:

(@ 1’
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Q.49: Who among the following sit at the extreme ends of the row ? Q.53: Who is sitting to the left of S ?

(@) D,F (b) G,C : (@) Q (b) U

(c) B,C (d) None of these T (d R
.Answer: () P

(c) B,C Answer:

Q.50: Who among the following sits on the immediate right of D ? Iy ] o

(@ G ; (b) E Q.54: Which of the following pairs of people are sitting at the extreme enggy
() F (d B (@ Qv ‘ (b) PR

Answer: : ' (c) TP (d) ST

(@B (e) VP

Q.51: Who among the following snts third to the nght of A? f‘c')'s.‘;v: i

(@ C - (b) G

(c) B d) E Q.55: Name the person who should change places with R such that he gets
Answer: i the fourth place from the South end ?

(c) B - (@) P (b) S

Q.52: Which is true with regard to B ? E:; 8 ()T

(a) Bis second to the right of A.. (b) B is fourth to the left of G. Answer:

(c) Bsits at the extreme right. (d) B sits at the extreme left. e U :

Answer:

2K O O R O
c G - F A E D B
(c) B sits at the extreme right.

Q.53-57: instructlons to Solve

(1) P,Q,R, S, T, Uand V are sitting on a wall and all of them are facing
West.

(2) Sis on the immediate left of R. .
(3) T is at an extreme end and has Q as his neighbour.
(4) Vis between Q and U.

(5) Sis sitting third ‘from the north end.

Q.56: Immediately between which of the following pairs of people S is
sitting? ) '

(a) UR (b) PQ
(c) VP (d) TU
(e) RV 3
Answer:
(a) UR

Q.57: Which of the conditions given above are riof required to find out th?x»

place in which P:is sitting ?
(@)l i i ®) .1 .
(0 v (d)
(e) All required

'
i



e

Answer:

(Right end)
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P
R
S
U
\%
Q
T

(Left end)
(e) Al required

Q.58-62: K, P T,C,N, D, L and J are standing in a row faci'ng north, but not
necessarily in the same order. Only N is between C and D whereas only L
isbetween D and J. T and K are P’s neighbours. Neither T nor C is at the

exireme end of the row. J is to the right of T but not necessarily on the
immediate right.

Q.58: Who among the following are neighbour ?

() T,K (b) T,C
c) N, L (d) K,J
LT

. Answer:

L TC

| @.58: Which of the following is true ?

| {8) Nis on the immediate right of D.

i (b) Kis not at either of the extreme end.
{ (©) PisbetweenKand T.

| () Tis at one of the extreme end.

i (e) None of these.

i
1

1

|
g

Answer:
(¢} Pisbetween K and T
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Q.60: Which of the following defines the position of D 7

(a) Dis second to the left of J. (b) Dis second to the right of L.
(c) Dis at one of the extreme ends (d) D is the neighbour of C.

(e) None of these.

Answer:

(a) Dis second to the left of J.

Q.61: Which of the following pairs is the neighbour of N ?

(a) b, L () C,T
(¢ T,L (@ C,D
(e) None of these
Answer:
(d C,D
Q.62: Which of the following pairs is at the extreme ends of the row ?
(@) J,P (b) K,P
(@) K J (d) Can't be determined
(e) None of these
Answer:
(c) K,J

Q.63-67: Directions: Twelve girl students L, M, N, O, P, Q, R, S, T,U,V,
and W are sitting in a row facing east. Q is third to the right at M and T is
sitting near L. Six girl students are sitting between W and O. Ris fourth tothe
right of O and S is fifth to the left of P, who is eight to the right of W. L is
sitting on sixth place from the right end. U is not near to R and S. V is sitting
on the fourth place to the left of L.

Q.63: Who is the two girl students sitting at the two ends ?

(@) Wand N (b) WandR

(c) VandO (d) OandQ

Answer: .

(b) Wand R

Q.64: Find out the names of two girl students sitting nearto Q ?
(@ TandV (b) Nand S

(c) VandU (&) SandT

Answer:

(d) Sand T
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Q.65: Who is sitting at fifth to the left of U ?

(@ Q (b) S
T (d R

Answer:

(@ Q

Q.66: Who is second to right of L ?

(@ s (b) P

(c) U ; (d) v

Answer:

(b) P

Q.67: Which of the-following statements is/are true ?
(a) More the one statements is true.

(b) There are six girl students sitting between N and Q.

(c) Uis second to the right of O.
(d) M is sitting at fourth place to the right of T.
Answer:

YHLTTTTTTT

~ (c) Uis second to the right of O.
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Q.68-72: Directions: A, B, C,.D, E, F and H are sitting in a straight line by
not necessarily in the same order. Two of them are facing south. C sitg
second to the right of E. A sits second to the left of F, who sits third to the left
of H. H is facing south. B sits third to the right of C, who is third from Ieﬂ E

and B face opposite dxrectlons
Q.68: Who among the following sits between F and B ?

(@) D (b) E .

(c) H (d) C.

(e) None of these .

Answer:

(b) E

Q.69: Who among the following sits third to the right of F ?
(@) E (b) C

() D (d) A

(e) None of these

Answer:

(c) D

Q.70: Which of the following pairs sits on the extreme ends of the row ?
(@) F,D , (b) A E

(c) H,B : (d D,H

(e) None of these

Answer:

(d) D,H

Q.71: Four of the following five are alike in a certain way and so form a
group. Which is the one that does not belong to the group ? '

(@ AD , (b) B,D
éc; E Ié : -~ (d) ¢,D
e .

Answer: .

(e) HE
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0.72: Who among the following sits second to the left of £

@D (b) C

(¢) None of these

;:Answer:

' Hot 4 ¢+ E 4 4
v AC F | B D

i (8) D

.73-77: Directions: Seven friends P, Q,R,S, T,Uand V are standing in
_astraight line facing north but not necessarily in the same order.

+ Ustands second from the left end of the line.

'+ Only two persons stands between U and T.

Only one person stands between P and R.

V stands third to the left of R.

Neither R nor U is an immediate neighbour of S.

0.73: Which of the following is TRUF regarding Q ?
' (a) P stands second to the left of Q.
1 (0) Sis one of the immediate neighbour of Q.
| [¢) Only one person stands between Q and T.
() Qstands at one of the extreme ends of the line.
&) Vstands second to the right of Q.
- Answer: .

. (%) Only one person stands between Qand T.

- Q.74: Four of the following five form a group as per the given arrangement.

- Which of the following does not belong to that group?

@ RQ (b) TP

Qv (d) UV

fEPs
Answer;

fOvT

!
g
]
4

Q.75: What is the position of V with respect to U ?

(a) Immediate left (b) Second to the right
(c) Third to the right (d) Immediate right
(e) Second to the left

Answer:

(@) Immediate left

Q.76: Which of the following pairs stand at the extreme ends of the line ?

@ Q,s (b) Q,P
) QT d) Vv,S
(e) V,P
Answer:
d) v,S

Q.77: Which of the following represents the position of R from the left end of
the line ?

(a) Fifth (b) First

(c) Sixth (d) Fourth

(e) Second

Answer:
|L T 1 T T4 Facing noith
Vv UQ R T P

(d) Fourth

Q.78-82: Direction: :
I. A B,C,D,E,F,G,andH aré sitting in a row facing North.
Il. ~A'is fourth to the right of E. .
lIl. His fourth to the left of D.
IV. C and F, who are not at the
respectively.

ends are neighbours of B and E,
H is next to the left of A and A is the neighbour of B.

V.



—

Q.78: What is the position of F?
(a) Next to the right of E.

(c) Sixth to the right of D.

(e) None of these:

Answer:

(a) Next to the right of E.

Q.79: Which of the following statements is not true?
(a) G is the neighbour of Hand F. (b) Bis nextto the right of A.
(c) Eisatleftend. (d) Dis next to the right of B.

(e) None of these.

(b) Next to the right of G.
(d) Between G and H.

- Answer:

(d)‘Dis nextto the right of B.
Q.80: Who isfare the néighbour/(s) of D?

(a) Falone.” (b) C alone.

(c) BandC. (d) Cannot be determined.
(e) None of these. .

Answer:

(b) C alone.

Q.81: Which of the following statements’is not true?
(a) His second to the right of F.
(c) Dis fourth to the right of H.
(e) Cannot be determined.
Answer:

(d) None of these.

. (d) None of these.

Q.82: Who are sitting at the ends? :
(b) FandD.

(a) EandC.

(¢) GandD. (d) None of these.
(e) Cannot be determined.

Answer: .

Lt @—8—0——0—0—0—0——0 R
A-EFGHABCDM

Seating Arrangements
(d) None of these.
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PAsT YEAR QUESTIONS

2018 - MAY

(b) E is fourth to the left of A.

[1]. Five boys A,B,C,Dan

i2

—

d E are sitting in a row. Ais to the right of Band E

is to the left of B but to the right of C. Ais to the left of D. Who is second

from the left end?

(@) D (b) A
() E (d) B (1 mark)
Answer:

© c E B A D

E is the second from the left end. ;
Five senior citizens are living in a multi-storeyed building. Mr. Manu lives
in a flat above Mr. Ashokan, Mr. Lokesh in a flat below Mr. Gaurav, Mr.
Ashokan lives in a flat below Mr. Gaurav and Mr. Rakesh lives in a flat
below Mr. Lokesh. Who lives in the topmost flat? -
(a) Mr. Lokesh ‘(b) Mr. Gaurav

(c) Mr.Manu - - (d) - Mr. Rakesh (1 mark)
Answer: y

P M, Many

L —.——» Mr. Gaurav
(©) > Mr. Lokesh "

== Mr. Rakesh

e Mr. Ashokan

Mr. Manu lives in the top most flat.
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3 Six children A, B, C, D, E and F are standing in a row. B is between F

y

and D. E is between A and C. A does not stand next to F or D. G does

not gtand next to D. F is between which of th i i
ahildren? A e following pairs of

‘(@B aﬂg g, (b) BandC
(c) Ban (d) Band A (1 mark)

Answer:

(,b) A E C F B D
Fis between B & C.
Five children are sitting in a row. S is sitting next to P but not T. K is
sitting next to R, who is sitting on the extreme left and T is not sitting
next to K. Who is/are adjacent to S. : '
(a) K+P (b) R+P
{c) Only P (d) PandT.
Answer: , :
(d) The line “S is sitting next to P but not T is interpreted as “S is sitting
next to P, but T is not sitting next to P”. By following this logic, the
figure is given below: :

!

(1 mark)

ek, P -r BT .
Therefore, it is clear that P and T are sitting adjacent to S.
Therefore, the answer is option (d).

2018 - NOVEMBER

[5] Eight persons A, B, C,.D, E, F, G and H are sitting in a line. E sits

second right to D. H sits fourth left to D. C and F_ are imrpediate
neighbours, but C is not immediate neighbour of A. Gi is not neighbour
of E. Only two persons sit between A and E. The persons on leftend and

fight end respectively are

(@) GandE (o) BandE :

(c) Hand E (d) GandB (1 mark)
Answer:

(a)

(6]

—t—t——t+—+— 1
G.H C F A D B E

The Person on the leftend =G
The Person on the right end = E

Six children A, B, C, D, E and F are sitting in a row. B is between F and
D. Eis between A and C. However, A does not sit next to F or D. C does
not sit next to D. Then, F is sitting between

(@) BandC (b) EandC

(c) BandD (d) None of the above (1 mark)
Answer:

O o S AL L

Fissitingb/wBand C

Five students A, B, C, D and E are standing in a row. D is on the right of
E, Bis on the left of E but on the right of A. D is next to C on his left. The
student in middle is

(a) B (b) E .
(c) C (d) A (1 mark)
Answer:

v T

The student in middle is ‘E".
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[8] Sixflats on a floor in two rows facing North and South are allotted to P, [10] In a straight line, there are six persons sitting in a row. B is between F
Q,R,S, Tand U.Q gets a North facing flat and it is not next to S. Sand and D. E is betwéen A and C. A does not stand next Fo ForD, Cdoes *
U get diagonally opposite flat. R next to U gets a South facing flat and not stand next to D. F is between which of the following persons?

T gets & North facing flat. Whose flat is between Q and S? (a) Band E
@ T X (b) U ) (b) Band C
() R ; (@) P (1 mark) (c) BandD )
Answer:. o (d) Band A . (1 mark)
(@ - : Answer: :

N . (b)

E i —_ 2 Y Y 8 o
; D B F C E A
1S ;

i

: . : ) [11] Five children are sitting in a row. S is sitting next to P but not T. K is
Flat “T"is b/w Q & S. ; sitting next to R. K is sitting on extreme end. T is not sitting next to K.

Who are sitting adjacent to S?
) : (@) K&P
2019 - JUNE (b) R&P
- (c) OnlyP ) i »
k d P&T <L ) 1 mark
[9] Four girls are seated for a photograph. Shikha is to the left of Reena. ;(Allswer: _ i Lm ). ,
Manju is to the right of Reena. Reeta is between Reena and Manju. Who ’ (d) ’ ;
= th; serc‘:ond left in photograph? .. .. ! ; : ~ The line “S is sitting next to P but not T” is interpreted as “S,is getting
((g; M‘;‘;_ ua : _ : . Nextio P, but T is not sitting next to P. By following this logic, the
© Reetja figure is given below: 7 ; ‘
(d) Shikha ' (1 mark) ' | :
A —_ 2 Iy o Y
ar;swer.v ‘ ' , P ) T R K

& » . il . Therefore, it is clear that,P.and T are sitting adjacent toS.
Sika Rect Menju . Therefore, the answer is option (d). : :
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| [12) Fiveboys A, B, C, Dand E are sittin
| E is to the left of B but to the right
second from the left end?

ginarow. Ais to the right of B and
of C. A'is to the left of D.'Who is

@@ D (b) A
f:gsl\zuer: (d) G (1 mark)
()

C E B /.A 5

2019 - NOVEMBER

[13] Six person are sitting in a circle facing the center. Parikh is between
Bablu and Narender; Ashok is between Chitra and Pankaj. Chitra is on
the immediate left of Bablu. Who is on the immediate right of Bablu?

(a) Parikh (b) Pankaj
(c) Narender (d) Chitra (1 mark)
Answer: : :

(a) According to question;

Bablu Narender
Paikh
So Parikh is immediate right of Bablu.

[14]

[18]

C is between A and B, E is at the extreme right and D is on the left of
E. Who is in the middle?

a) A (b) B :
Ec) D (d) E (1 mark)
Answer:
(b) According to question,
ACBDE

So B is in the middle.
5 person are standing in a line. One of the 2 persons at the extreme .
ends is a professor and the other is a businessman. An advocate is
standing to the right of a student. An author is to the left of the business
man. The student is standing between the professor and advocate.
Counting from left, the author is at which place? '

(a) 2nd (b) 3rd 1% &
(c) 4" (d) none ; (1 mark).
Answer:

(c) According to given queé;

Professor Student Advocate Author Businessman
Author is 4" from the left

2020 - NOVEMBER

[16] Five girls G, H, I, J, K are sitting in a row facin

g South not necessarily

in the same order H is sitting between G and K, 1 is immediate right to

K, J is immediate left to G. Which of t ing i

(@) J is third to the left of K. F1ha loflawing is true?
(b) Gis second to the left of |

(c) Histothe right of K

(d) Histothe leftof G

- ’rﬁa‘rk)
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Eight friends |, J, K, L, M, N, O and P are sitting in a circle facing the
centre. J is sitting between O and L; P is third to the left of J and
second to the right of |; K is sitting between | and O; J & M are not
sitting opposite to each other which of the following statements is not
correct?

" (a) Kis sitting third to the right of L
(b) lis sitting between K and N
(¢) L and I are sitting opposite to each other

_(d) M is sitting between N and L. (1 mark)

Answer:

[Chapter = 11] Seating Arrangements |l [ 3.623 |
Answer: '

@ 1 K H G J
J is the third to the left of ‘K* .

- L and | are sitting opposite to each other is wrong.

202

1 - JANUARY

(8]

A, B, Cand D are playing cards, A and B are partners. D faces towards
North. If A faces West, then who faces south?

(@) C

(b) B
(c) D

(d) Data is inadequate (1 mark)

| m [solved Scanner CA Foundation Paper - 3B
Answer:
(a)
C N
W—i—— E
B—>» <«——A - S

i

|

If A and B are Partner. |

Here A faces towards west then B faces towards east. C and D |
are also partner. 4

‘D’ faces towards North then C faces South direction.

[ 9] Ais seated between D and F at a round table. C is seated opposite to
D. E is round adjust to D. Who sit opposite to B?

“(a) A
(b) D
(c) C St
(d) F (1 mark)
Answer:
(a)
c
-
E A
D

‘A’ sits opposite to ‘B’.
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Four Indian, A, B, C and D and four Chin

b A ese E, F, GandH itti
inacircle around a table facmg the each otherina conferencac;el\fc:“tl\zg
Indians or Chinese are sitting side by side, C who is sitting between G
and E is fa_cmg Q, F is between D and A and facing G, H is to the left
of B. Who is sitting ieft of A? )

(a) E
. () F
(o) G _
(dH
Answer: (1 mark)
(a)
‘E' is sitting left of A.
Five friends A, B, C, D and E are sitting on a bench. A is sitting next to

B; C is sitting next to D, D is not sitting with E; E is at the left end of
bench. C is on second position from the right; A is on the right side of
B who is the right side of E. A and C are sitting together. What is the
position of B?

(a) Second from right

(b) Centre

(c) Extreme left

(d) Second from left (1 mark)

3.626 | W [solued Scanner CA Foundation Paper - 3B

=

Answer:

(d)

E B A Cc D

B is the second from left.

2021 - JuLy

[22]

[23]

Five girls are sitting on a bench to be photographed. Seema is to the
left of Rani and to the right of Bindu. Mary is to the right of Rani. Reeta
is between Rani and Mary. Who is sitting immediate right to Reeta?
(a) Seema G

(b) Rani
(c) Bindu b
(d) Mary -(1 mark)
Answer:
(d) : ,
Bindu Seema Rani Reeta Mary
R

s ! iy A
RS P e e

(Mary is sitting immediate‘figﬁt to Reeta.)

A_, B, C, D and E are sitting on the bench. A is sitting nexf toB,Cis
sitting next to D, D is not sitting with B who is on the left end of the
bench. C is on the second position from the right. A is to the right of B

and E. A and C are sitting together in which position A is sitting
between? i 3
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(@) CandD
(b) Dand E
(c) BandC
(d) Band D (1 mark)
Answer:
© A A A A A
| ; ! !
E B A C D
So A is Sitting in b/w BandC
[24] A B,C,D,E, F and G are sitting in a row facmg north:
- Fis to the immediate right of E.
2 E is 4™ to the right of G.
3. C s the neighbor of B and D.
4. Person who is third to the Ieft of D is at one of ends.
'Who are to the right of D?
(a) E,Fand A
(b) G,BandC
(c) C,BandE .
(d) G and B only (1 mark)
Answer: 3
© A . A A A A A A
Sl s T sl | i
o B fe F | i
G B (o} D E F A

So E, F, Aare to the right of ‘D’

[25] Six friends P,Q,R,S,T and U are sitting around the hexagonal table

each at one corner-and are facing the centre of the hexagonal. P is
second to the left of U.Q is neighbor of R and S. T is second to the left
of S. Which one |s sitting opposite to S?
(a) R

(b) P LA ’

(c) Q . ) »
(ds . 4 . (1'mark)

>
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Answer:

(b) R
P Q
T s

U

‘P’ is sitting opposite to ‘S’

2021 - DECEMBER

[26] Six children, named as P, Q, R, S, T and U, are sitting is a row, Q is

between U and S, T is between P and R, P dose not sit next io either

U or S. R does not sit next to S. So, U is setting between the pairs
of children. 3

(@ Qand T

(b) Qand R

(c) Qand S

(d) Qand P

Answer:

(b) PTRUQS’

(1 mark)

[27] - Five persons A, B, C, D and E are snttlng in arow. A sits left to C and

C sits left to B. E sits right to B, D sits in between E and B..Who is
sitting in the middle? . iy

(@) B
(b) C
(C) E ; . : '. % ) 5
(d)-D \ : ' : e (1 mark)
Answer: ; £ S ers
(aQ) ACBDE
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[ o8] Four ladies A, B, C and D and four Gentlemen E, F, G and H are sitting
in a circle around a table facing each other.
. Notwo ladies or gentleman are sitting side by side.
II. C,whois sitting between G and E, is facing D.
Il. Fis between D and A facing G.
V. His to the right of B.
Who is immediate neighbour of B?
(@) GandH
(b) Eand F
(c) Eand G
(d) Aand B (1 mark)
Answer:
(@) oo

. [29] Persons M, N, O, P, Q, R, S, and T are sitting on a compound wall
facing North. O sits fourth left of S; P sits second to the right of S; only
two people sit between P and M; N and R are immediate neighbours
of each other. N is not an immediate neighbour of M; T is not the
neighbour of P. How many persons are seated between M and Q?
(a) One

(b) Two

(c) Three - '

(d) Four i (1 mark)
Answer:

[30]. In aline, P is sitting 13" from left. Q is sitting 24" from the right and 3"
left from P. How many people are sitting in the line?

(a) 34 (b) 31
(c) 32 (d) 33 (1 mark)
Answer:

(d) Qs sitting 37 left of P, and Q is the 24™ position from the right.
100 [ 11" [ 12" [ 13" | 14" | 15" | ...
Q | P
Since Q is 24" and 37 left of P, it means Q is on the 10" place from
- the left.
This means that counting the position of Q, there are 24 positions
to the right.
Therefore, counting from 11" position, there are 23 posmons tothe
right.
Therefore, total number of places = 10 + 23 = 33.

2022 - JUNE

[31] If six person are sitting in a hexagonal table are P Q, R S, T, Ueach
facing the centre. P is seated to opposite to Qwhoisb/w R & S. P is
b/w T and U. T is the left of S. Which of them is facing R?

(@ P (b) Q
(U @ T -~ (1 mark)
Answer: . : ;
(d)
S Q
T
P U - St : .

Tisthe facing of ‘R’
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[32] Five boys A, B, C, D, E, are sitting in a row. A is to the right of B and E
is to the left of B, but to the right of C. A is to the left of D. Who is
second from the left end? ;

(@) D
W) A
(c) E
(d B
Answer:

()
'c‘;EéA D

(1 mark)

‘E is the second from the left end’

2022 - DECEMBER

[33] P,Q,RandS are playinga game of carrom. P,Rand S, Qare partners,
'S’ is to the right of ‘R'. If ‘R’ is facing West, then ‘Q’ is facing which
direction? 3
(a) South
(b) North
(c) East
(d) West
Answer:
(b) N

(1 mark)
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[34]

[35]

Six persons A, B, C, D, E and F are sitting in two rows with thre
persons in each row. Both rows are in front of each other. E is not
the end of the any row and D is second left to the F, C is neighbouyr
E and diagonally opposite to D. If B is neighbour of F who is in front
C then who is sitting diagonally to F? 5
(@) C

(b) E

(c) A

(d) D

Answer:

()

‘A’ is sitting diagonally to ‘F’.

P,Q,R,Sand Tare éitting in a line facing West. P and Q are si
together. R is sitting at South end and S is sitting at North end. Tis
neighbour of Q and R. Who is sitting the middie?

(@ P (b) Q

() R (d)='S; - ; (
Answer:

(b)




